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A three-sided fence is to be built next to a straight section of river, which forms the fourth side of a 

rectangular region. The enclosed area is to equal 1800 ft2. Find the minimum perimeter 

and the dimensions of the corresponding enclosure 

         𝒂)  𝒙 = 𝟏𝟓 , 𝒚 = 𝟏𝟐𝟎 𝒂𝒏𝒅 𝒑𝒆𝒓𝒎𝒆𝒕𝒆𝒓 = 𝟏𝟓𝟎 𝒇𝒕         𝒃)  𝒙 = 𝟑𝟎 , 𝒚 = 𝟔𝟎 𝒂𝒏𝒅 𝒑𝒆𝒓𝒎𝒆𝒕𝒆𝒓 = 𝟏𝟐𝟎 𝒇𝒕         𝒄)  𝒙 = 𝟒𝟓 , 𝒚 = 𝟒𝟎 𝒂𝒏𝒅 𝒑𝒆𝒓𝒎𝒆𝒕𝒆𝒓 = 𝟏𝟑𝟎𝒇𝒕         𝒅)  𝒙 = 𝟔𝟎 , 𝒚 = 𝟑𝟎 𝒂𝒏𝒅 𝒑𝒆𝒓𝒎𝒆𝒕𝒆𝒓 = 𝟏𝟓𝟎 𝒇𝒕 
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A three-sided fence is to be built next to a straight section of river, which forms the fourth side of a 

rectangular region. There is 96 feet of fencing available. Find the maximum enclosed area and the 

dimensions of the corresponding enclosure 

        𝒂)  𝒙 = 𝟑𝟐 , 𝒚 = 𝟑𝟔 𝒂𝒏𝒅 𝑨𝒓𝒆𝒂 = 𝟏𝟏𝟓𝟐𝒇𝒕𝟐         𝒃)  𝒙 = 𝟒𝟖 , 𝒚 = 𝟐𝟒 𝒂𝒏𝒅 𝑨𝒓𝒆𝒂 = 𝟏𝟏𝟓𝟐𝒇𝒕𝟐
         𝒄)  𝒙 = 𝟐𝟒 , 𝒚 = 𝟒𝟖 𝒂𝒏𝒅 𝑨𝒓𝒆𝒂 = 𝟏𝟏𝟓𝟐𝒇𝒕𝟐         𝒅)  𝒙 = 𝟑𝟔 , 𝒚 = 𝟑𝟐 𝒂𝒏𝒅 𝑨𝒓𝒆𝒂 = 𝟏𝟏𝟓𝟐𝒇𝒕𝟐 
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 The Featured Programالبرنامج المميز   

A two-pen corral is to be built. The outline of the corral forms two identical adjoining rectangles. If there 

is 120 ft of fencing available, what dimensions of the corral will maximize the enclosed area? 

        𝒂)  𝒙 = 𝟒𝟓 , 𝒚 = 𝟏𝟎 𝒂𝒏𝒅 𝑨𝒓𝒆𝒂 = 𝟒𝟓𝟎𝒇𝒕𝟐         𝒃)  𝒙 = 𝟐𝟓 , 𝒚 = 𝟐𝟓 𝒂𝒏𝒅 𝑨𝒓𝒆𝒂 = 𝟔𝟐𝟓𝒇𝒕𝟐
         𝒄)  𝒙 = 𝟐𝟎 , 𝒚 = 𝟑𝟎 𝒂𝒏𝒅 𝑨𝒓𝒆𝒂 = 𝟔𝟎𝟎𝒇𝒕𝟐         𝒅)  𝒙 = 𝟑𝟎 , 𝒚 = 𝟐𝟎 𝒂𝒏𝒅 𝑨𝒓𝒆𝒂 = 𝟔𝟎𝟎𝒇𝒕𝟐 

 

 

 

 

 



 

 

9 

0566010255 

12 Advanced 2021-2022 

MR / ahmed Ata Revision 8 Term 2 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

A showroom for a department store is to be rectangular with walls on three sides, 6-ft door openings on 

the two facing sides and a 10-ft door opening on the remaining wall. The showroom is to have 800 ft2 of 

floor space. What dimensions will minimize the length of wall used? 

        𝒂)  𝟓𝟖𝒇𝒕  𝒍𝒆𝒏𝒈𝒕𝒉 𝒐𝒇 𝒘𝒂𝒍𝒍 𝒘𝒆𝒉𝒏 𝒙 = 𝟐𝟎𝒇𝒕 𝒂𝒏𝒅 𝒚 = 𝟒𝟎 𝒇𝒕         𝒃) 𝟓𝟖𝒇𝒕  𝒍𝒆𝒏𝒈𝒕𝒉 𝒐𝒇 𝒘𝒂𝒍𝒍 𝒘𝒆𝒉𝒏 𝒙 = 𝟑𝟎𝒇𝒕 𝒂𝒏𝒅 𝒚 = 𝟑𝟎 𝒇𝒕         𝒄) 𝟓𝟖𝒇𝒕  𝒍𝒆𝒏𝒈𝒕𝒉 𝒐𝒇 𝒘𝒂𝒍𝒍 𝒘𝒆𝒉𝒏 𝒙 = 𝟒𝟎𝒇𝒕 𝒂𝒏𝒅 𝒚 = 𝟐𝟎 𝒇𝒕         𝒅)  𝟓𝟖𝒇𝒕  𝒍𝒆𝒏𝒈𝒕𝒉 𝒐𝒇 𝒘𝒂𝒍𝒍 𝒘𝒆𝒉𝒏 𝒙 = 𝟐𝟓𝒇𝒕 𝒂𝒏𝒅 𝒚 = 𝟑𝟓 𝒇𝒕 
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AHMED ATA 

AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

that the rectangle of maximum area for a given perimeter P is always  

        𝒂)  𝒓𝒆𝒄𝒕𝒂𝒏𝒈𝒍𝒆 𝒘𝒊𝒕𝒉 𝒍𝒆𝒏𝒈𝒕𝒉 𝒕𝒊𝒘𝒄𝒆 𝒘𝒊𝒅𝒆         𝒃) 𝒓𝒆𝒄𝒕𝒂𝒏𝒈𝒍𝒆 𝒘𝒊𝒕𝒉 𝒍𝒆𝒏𝒈𝒕𝒉 𝒕𝒓𝒊𝒑𝒍𝒆𝒔 𝒘𝒊𝒅𝒆         𝒄) 𝒔𝒒𝒖𝒂𝒓𝒆(𝒓𝒆𝒄𝒕𝒂𝒏𝒈𝒍𝒆 𝒘𝒊𝒕𝒉 𝒍𝒆𝒏𝒈𝒕𝒉 𝒆𝒒𝒖𝒂𝒍𝒔 𝒘𝒊𝒅𝒆)          𝒅)  𝒓𝒆𝒄𝒕𝒂𝒏𝒈𝒍𝒆 𝒘𝒊𝒕𝒉 𝒍𝒆𝒏𝒈𝒕𝒉 𝒇𝒐𝒖𝒓 𝒕𝒊𝒎𝒆𝒔 𝒘𝒊𝒅𝒆 
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AHMED ATA 

AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

that the rectangle of minimum perimeter for a given area A is always  

        𝒂)  𝒓𝒆𝒄𝒕𝒂𝒏𝒈𝒍𝒆 𝒘𝒊𝒕𝒉 𝒍𝒆𝒏𝒈𝒕𝒉 𝒕𝒊𝒘𝒄𝒆 𝒘𝒊𝒅𝒆         𝒃) 𝒓𝒆𝒄𝒕𝒂𝒏𝒈𝒍𝒆 𝒘𝒊𝒕𝒉 𝒍𝒆𝒏𝒈𝒕𝒉 𝒕𝒓𝒊𝒑𝒍𝒆𝒔 𝒘𝒊𝒅𝒆         𝒄) 𝒔𝒒𝒖𝒂𝒓𝒆(𝒓𝒆𝒄𝒕𝒂𝒏𝒈𝒍𝒆 𝒘𝒊𝒕𝒉 𝒍𝒆𝒏𝒈𝒕𝒉 𝒆𝒒𝒖𝒂𝒍𝒔 𝒘𝒊𝒅𝒆)          𝒅)  𝒓𝒆𝒄𝒕𝒂𝒏𝒈𝒍𝒆 𝒘𝒊𝒕𝒉 𝒍𝒆𝒏𝒈𝒕𝒉 𝒇𝒐𝒖𝒓 𝒕𝒊𝒎𝒆𝒔 𝒘𝒊𝒅𝒆 
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AHMED ATA 

AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

A box with no top is to be built by taking a 6 in by 10 in sheet of cardboard, cutting x-in. squares out of 

each corner and folding up the sides. Find the value of x that maximizes the volume of the box. 

        𝒂)  𝒙 = 𝟖−√𝟏𝟗𝟑                                    𝒃) 𝒙 = 𝟖+√𝟏𝟗𝟑                         
        𝒄) 𝒙 = 𝟒−√𝟏𝟗𝟑                                    𝒄) 𝒙 = 𝟒√𝟏𝟗𝟑      
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AHMED ATA 

AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Oil spills out of a tanker at the rate of 120 gallons per minute. The oil spreads in a circle 

with a thickness of  𝟏𝟒 𝒊𝒏  Given that 1 ft3 equals 7.5 gallons, determine the rate at which the 

radius of the spill is increasing when the radius reaches 100 ft 

        𝒂)  𝒓′ = 𝟒𝟖𝟐𝟓𝝅 𝒇𝒕/𝒎𝒊𝒏 

        𝒃) 𝒓′ = 𝟗𝟔𝟐𝟓𝝅  𝒇𝒕/𝒎𝒊𝒏 

        𝒄) 𝒓′ = 𝟏𝟒𝟒𝟐𝟓𝝅  𝒇𝒕/𝒎𝒊𝒏 

        𝒅) 𝒓′ = 𝟏𝟏𝟐𝟐𝟓𝝅  𝒇𝒕/𝒎𝒊𝒏 
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AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Oil spills out of a tanker at the rate of 120 gallons per minute. The oil spreads in a circle with a 

thickness of  𝟏𝟒 𝒊𝒏  Given that 1 ft3 equals 7.5 gallons, determine the rate at which the radius of the 

spill is increasing when the radius reaches 200 ft 

          𝒂)  𝒓′ = 𝟒𝟖𝟐𝟓𝝅 𝒇𝒕/𝒎𝒊𝒏 

        𝒃) 𝒓′ = 𝟗𝟔𝟐𝟓𝝅  𝒇𝒕/𝒎𝒊𝒏 

        𝒄) 𝒓′ = 𝟏𝟒𝟒𝟐𝟓𝝅  𝒇𝒕/𝒎𝒊𝒏 

        𝒅) 𝒓′ = 𝟏𝟏𝟐𝟐𝟓𝝅  𝒇𝒕/𝒎𝒊𝒏 
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AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Oil spills out of a tanker at the rate of 90 gallons per minute. The oil spreads in a circle 

with a thickness of  𝟏𝟖  𝒊𝒏 Determine the rate at which the radius of the spill is increasing 

when the radius reaches 100 feet 
        𝒂)  𝒓′ = 𝟒𝟖𝟐𝟓𝝅 𝒇𝒕/𝒎𝒊𝒏 

        𝒃) 𝒓′ = 𝟗𝟔𝟐𝟓𝝅  𝒇𝒕/𝒎𝒊𝒏 

        𝒄) 𝒓′ = 𝟏𝟒𝟒𝟐𝟓𝝅  𝒇𝒕/𝒎𝒊𝒏 

        𝒅) 𝒓′ = 𝟏𝟏𝟐𝟐𝟓𝝅  𝒇𝒕/𝒎𝒊𝒏 
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AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Oil spills out of a tanker at the rate of g gallons per minute. The oil spreads in a circle with 

a thickness of 
𝟏𝟒  𝒊𝒏  Given that the radius of the spill is increasing at a rate of 0.6 ft/min 

when the radius equals 100 feet, determine the value of g.  
        𝒂)  𝒗′ = 𝟔𝟖. 𝟗 𝒈𝒂𝒍/𝒎𝒊𝒏         𝒃) 𝒗′ = 𝟑𝟖. 𝟏 𝒈𝒂𝒍/𝒎𝒊𝒏         𝒄) 𝒗′ = 𝟒𝟓. 𝟗 𝒈𝒂𝒍/𝒎𝒊𝒏         𝒅) 𝒗′ = 𝟓𝟖. 𝟗 𝒈𝒂𝒍/𝒎𝒊𝒏 
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AHMED ATA 
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AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Assume that the infected area of an injury is circular. 

If the radius of the infected area is 3 mm and growing at a rate of 1 mm/hr, at what rate is the 

infected area increasing?  

        𝒂)  𝒕𝒉𝒆 𝒂𝒓𝒆𝒂 𝒊𝒔 𝒊𝒏𝒄𝒓𝒂𝒆𝒔𝒊𝒏𝒈 𝒃𝒚 𝒓𝒂𝒕𝒆 𝟑𝝅 𝒎𝒎𝟐/𝒉         𝒃) 𝒕𝒉𝒆 𝒂𝒓𝒆𝒂 𝒊𝒔 𝒊𝒏𝒄𝒓𝒂𝒆𝒔𝒊𝒏𝒈 𝒃𝒚 𝒓𝒂𝒕𝒆 𝟔𝝅 𝒎𝒎𝟐/𝒉         𝒄) 𝒕𝒉𝒆 𝒂𝒓𝒆𝒂 𝒊𝒔 𝒊𝒏𝒄𝒓𝒂𝒆𝒔𝒊𝒏𝒈 𝒃𝒚 𝒓𝒂𝒕𝒆 𝟗𝝅 𝒎𝒎𝟐/𝒉         𝒅) 𝒕𝒉𝒆 𝒂𝒓𝒆𝒂 𝒊𝒔 𝒊𝒏𝒄𝒓𝒂𝒆𝒔𝒊𝒏𝒈 𝒃𝒚 𝒓𝒂𝒕𝒆 𝟏𝟐𝝅 𝒎𝒎𝟐/𝒉 
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AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Assume that the infected area of an injury is circular. 

If the radius of the infected area is 6 mm and growing at a rate of 1 mm/hr, at what rate is the 

infected area increasing?  

        𝒂)  𝒕𝒉𝒆 𝒂𝒓𝒆𝒂 𝒊𝒔 𝒊𝒏𝒄𝒓𝒂𝒆𝒔𝒊𝒏𝒈 𝒃𝒚 𝒓𝒂𝒕𝒆 𝟑𝝅 𝒎𝒎𝟐/𝒉         𝒃) 𝒕𝒉𝒆 𝒂𝒓𝒆𝒂 𝒊𝒔 𝒊𝒏𝒄𝒓𝒂𝒆𝒔𝒊𝒏𝒈 𝒃𝒚 𝒓𝒂𝒕𝒆 𝟔𝝅 𝒎𝒎𝟐/𝒉         𝒄) 𝒕𝒉𝒆 𝒂𝒓𝒆𝒂 𝒊𝒔 𝒊𝒏𝒄𝒓𝒂𝒆𝒔𝒊𝒏𝒈 𝒃𝒚 𝒓𝒂𝒕𝒆 𝟗𝝅 𝒎𝒎𝟐/𝒉         𝒅) 𝒕𝒉𝒆 𝒂𝒓𝒆𝒂 𝒊𝒔 𝒊𝒏𝒄𝒓𝒂𝒆𝒔𝒊𝒏𝒈 𝒃𝒚 𝒓𝒂𝒕𝒆 𝟏𝟐𝝅 𝒎𝒎𝟐/𝒉 
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 The Featured Programالبرنامج المميز   

Suppose that a raindrop evaporates in such a way that it maintains a spherical shape. Given that the 

volume of a sphere of radius r is 𝑽 =  𝟒𝟑 𝝅𝒓𝟐 and its surface area is 𝑨 = 𝟒𝝅𝒓𝟐, if the radius changes in 

time, show that 𝑽′ =  𝑨𝒓′. If the rate of evaporation (𝑽′) is proportional to the surface 

area, then radius changes the radius changes at a constant rate 

         𝒂)  𝒓𝒂𝒅𝒊𝒖𝒔 𝒄𝒉𝒂𝒏𝒈𝒆𝒔 𝒂𝒕 𝒂 𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 𝒓𝒂𝒕𝒆         𝒃) 𝒓𝒂𝒅𝒊𝒖𝒔 𝒄𝒉𝒂𝒏𝒈𝒆𝒔 𝒃𝒚  𝒓𝒂𝒕𝒆 𝟒         𝒄) 𝒓𝒂𝒕 𝒐𝒇  𝒓𝒂𝒅𝒊𝒖𝒔 𝒅𝒆𝒄𝒓𝒆𝒂𝒔𝒊𝒏𝒈 𝒃𝒚 𝟐 

        𝒅)  𝒓𝒂𝒅𝒊𝒖𝒔 𝒄𝒉𝒂𝒏𝒈𝒆𝒔 𝒃𝒚  𝒓𝒂𝒕𝒆 𝟒𝟑 
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AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Suppose a forest fire spreads in a circle with radius changing at a rate of 5 feet per minute. When 

the radius reaches 200 feet, at what rate is the area of the burning region 

increasing? 

 
            𝒂)  𝟐𝟎𝟎𝟎 𝒇𝒕𝟐/𝒎𝒊𝒏            𝒃)  𝟐𝟎𝟎𝟎𝝅 𝒇𝒕/𝒎𝒊𝒏            𝒄)  𝟐𝟎𝟎𝟎𝝅 𝒇𝒕𝟐/𝒎𝒊𝒏            𝒅)  𝟏𝟓𝟎𝟎𝝅 𝒇𝒕𝟐/𝒎𝒊𝒏 
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AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

A 10-feet ladder leans against the side of a building If the bottom of the ladder is pulled away 

from the wall at the rate of 3 ft/s and the ladder remains in contact with the wall, 

find the rate at which the top of the ladder is dropping when the bottom is 6 feet from the wall.  
            𝒂)  𝒚′(𝒕) = 𝟐. 𝟐𝟓 𝒇𝒕/𝒔𝒆𝒄            𝒃)  𝒚′(𝒕) =  −𝟐. 𝟐𝟓 𝒇𝒕/𝒔𝒆𝒄            𝒄)  𝒚′(𝒕) = 𝟑. 𝟐𝟓 𝒇𝒕/𝒔𝒆𝒄            𝒅)  𝒚′(𝒕) = −𝟑. 𝟐𝟓 𝒇𝒕/𝒔𝒆𝒄 
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AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
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AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

A 10-feet ladder leans against the side of a building If the bottom of the ladder is pulled away 

from the wall at the rate of 3 ft/s and the ladder remains in contact with the wall, 

 Find the rate at which the angle between the ladder and the horizontal is changing when the 

bottom of the ladder is 6 feet from the wall.  
            𝒂)  𝜽′(𝒕) = 𝟑𝟖  𝒓𝒂𝒅/𝒔𝒆𝒄 

           𝒃) 𝜽′(𝒕) = − 𝟓𝟖  𝒓𝒂𝒅/𝒔𝒆𝒄 

           𝒄)  𝜽′(𝒕) = − 𝟑𝟖  𝒓𝒂𝒅/𝒔𝒆𝒄 

           𝒅)  𝜽′(𝒕) = − 𝟕𝟖  𝒓𝒂𝒅/𝒔𝒆𝒄 
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AHMED ATA 

AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Suppose that  𝑪(𝒙)  =  𝟎. 𝟎𝟐𝒙𝟐  +  𝟐𝒙 +  𝟒𝟎𝟎𝟎 

is the total cost (in AED) for a company to produce 𝒙 units of a certain product. 

Compute the marginal cost at 𝒙 =  𝟏𝟎𝟎 
            𝒂)  𝟐 𝑨𝑬𝑫            𝒃) 𝟓. 𝟗𝟖 𝑨𝑬𝑫            𝒄)  𝟒 𝑨𝑬𝑫            𝒅)  𝟔 𝑨𝑬𝑫 
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AHMED ATA 

AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Suppose that  𝑪(𝒙)  =  𝟎. 𝟎𝟐𝒙𝟐  +  𝟐𝒙 +  𝟒𝟎𝟎𝟎 

is the total cost (in AED) for a company to produce 𝒙 units of a certain product. 

Compute actual cost of producing the 100th unit 
            𝒂)  𝟐 𝑨𝑬𝑫            𝒃) 𝟓. 𝟗𝟖 𝑨𝑬𝑫            𝒄)  𝟒 𝑨𝑬𝑫            𝒅)  𝟔 𝑨𝑬𝑫 
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AHMED ATA 

AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Find the general antiderivative 
 ∫ 𝟐𝒔𝒆𝒄𝒙𝒕𝒂𝒏𝒙𝒅𝒙   
         𝒂) 𝒕𝒂𝒏𝒙 + 𝒔𝒆𝒄𝒙 + 𝒄                                        𝒃)  𝒔𝒆𝒄𝒙 − 𝒕𝒂𝒏𝒙 + 𝒄                                         𝒄)   𝒕𝒂𝒏𝒙 − 𝒔𝒆𝒄𝒙 + 𝒄                                                    𝒅)  𝟐𝒔𝒆𝒄𝒙 + 𝒄                                         
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AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA AHMED ATA 

AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Find the general antiderivative 
 ∫ 𝟓𝒔𝒆𝒄𝟐𝒙𝒅𝒙   
         𝒂) − 𝟓𝒕𝒂𝒏𝒙 + 𝒄                                        𝒃)  𝟓𝒕𝒂𝒏𝒙 + 𝒄                                         𝒄)  𝟓 𝒕𝒂𝒏𝒙𝒔𝒆𝒄𝒙 + 𝒄                                                    𝒅)  𝟓𝒔𝒆𝒄𝒙 + 𝒄                                         
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AHMED ATA AHMED ATA 
AHMED ATA 

AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Find the general antiderivative 
 ∫ 𝟒𝒄𝒐𝒔𝒙𝒔𝒊𝒏𝟐𝒙 𝒅𝒙   
         𝒂) − 𝟒𝒄𝒔𝒄𝒙 + 𝒄                                        𝒃)  𝟒𝒄𝒔𝒄𝒙 + 𝒄                                         𝒄)  𝟒𝒔𝒆𝒄𝒙 + 𝒄                                                    𝒅)  − 𝟒𝒔𝒆𝒄𝒙 + 𝒄                                         
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 The Featured Programالبرنامج المميز   

Find the general antiderivative 
 ∫ 𝒄𝒐𝒔𝒙𝒔𝒊𝒏𝒙 𝒅𝒙   
         𝒂)  − 𝒍𝒏|𝒔𝒊𝒏𝒙| + 𝒄                                                                        𝒃)  𝒍𝒏|𝒔𝒊𝒏𝒙| + 𝒄                                         𝒄) 𝒍𝒏|𝒄𝒐𝒔𝒙| + 𝒄                                                   𝒅)  −  𝒍𝒏|𝒄𝒐𝒔𝒙| + 𝒄                                         
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AHMED ATA AHMED ATA AHMED ATA 

 The Featured Programالبرنامج المميز   

Find the general antiderivative 
 ∫ 𝟒𝒙𝒙𝟐 + 𝟒 𝒅𝒙   
         𝒂) 𝟏𝟐 𝒍𝒏|𝒙𝟐 + 𝟒| + 𝒄                                                                                                                   𝒃)  𝒍𝒏|𝒙𝟐 + 𝟒| + 𝒄                                                                                    𝒄) 𝟐𝒍𝒏|𝒙𝟐 + 𝟒| + 𝒄                                                   𝒅) 𝟐𝒍𝒏|𝒙 + 𝟒| + 𝒄                                                                                    
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 The Featured Programالبرنامج المميز   

Find the general antiderivative 
 ∫ 𝒆𝒙𝒆𝒙 + 𝟑 𝒅𝒙   
         𝒂) 𝒍𝒏|𝒆𝒙 + 𝟑| + 𝒄                                𝒃) 𝒍𝒏|𝒆𝒙| + 𝒄                                   𝒄) 𝒍𝒏|𝒆𝒙 + 𝟑| + 𝒄                            𝒅) 𝒍𝒏|𝒆−𝒙 + 𝟑| + 𝒄              
 

 

 

 


